dcr/dpT (pp - b+ X 5 mu + X') [nb/GeV]

Ratio to CMS

=
o
>

=
o
w

=
o
N

=
@)

1071

[EEY

0.5

Rivet 3.1.10, = 2.7M events

7000 GeV p bb
L L Y L O N Y IR B L B B
= p'T (cms2011-mun2.1) —=
= =
I . —
& m |
= xg’\\ m 5
E ﬁiﬁ;\ = E
- B " .
E \\iis [ | E
- m ovs & =
| - ©- Pythia 6.428 390%:.. _
| —-8- Pythia 6.428 391 \'~\i~?~;§§?‘§ " ]
= --%- Pythia 6.428 392 Sl =
—  --+-- Pythia 6.428 396 RN 7]
— --%-- Pythia 6.428 397 \-;7% m
= --*-- Pythia 6.428 398 =
T O T T N AU O ST IR
1 1 1 1 " | " 1 1 1 1 | " 1 1 1 1 " | " 1 1 1 " 1 " | " 1 " 1 " 1 " 1 " |

10 15 20 25 30

Muon P, [GeV]

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


